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HDCPERR: (58) (%) =
B4z B 42 e OUT| IN | GROSS| HDCP | NET B BEy A e OUT| IN |GROSS| HDCP | NET
B BiRO &F 38 38 76/ 10.0/ 66.0 M BR #E5F 43 44 87 7.0/ 80.0
EER EH [kih 37 34 71 2.0/ 69.0 4241 FEE _BH 44 45 89 9.0/ 80.0
M KE FR 38 40 78/ 8.0/ 70.0 36 BE #H= 47 46 93| 13.0/ 80.0
At |48IR  IEFD 42 4 83 11.0/ 72.0 G AR IE 48 45 93 13.0/ 80.0
54 HIEH FH 36 41 7711 4.0/ 73.0 4561 BkH B 43 50 93/ 13.0/ 80.0
6 itE  ZEd 40 37 7711 4.0/ 73.0 46 AE HEi 48 45 93] 13.0/ 80.0
ML | EXK ZE 39 39 78 5.0/ 73.0 47461 |hE  —ER 44 45 89, 8.0/ 81.0
8 | BEAR X 39 4 80, 7.0/ 73.0 4841 &t SETH 42 50 92 11.0/ 81.0
OfL |FRJIl BXABER 42 41 83/ 10.0/ 73.0 4941 | E@A =E 46 47 93 12.0/ 81.0
1062 j#iE  {ETh 42 38 80, 6.0/ 74.0 50 EliZE FE 47 46 93 12.0/ 81.0
1146 RH# E 43 38 81 7.0/ 74.0 i BEH R 51 44 95| 14.0/ 81.0
12461 AR ik 44 38 82| 8.0/ 74.0 b2 Wb HE 45 43 88 6.0/ 82.0
136 &0 FE 43 43 86/ 12.0/ 74.0 b3 HmH &iE 47 46 93 11.0/ 82.0
1461 & 3§ 46 42 88 14.0/ 74.0 b4 IBR FRiE 49 45 94 12.0/ 82.0
156 % B— 44 45 89/ 15.0/ 74.0 o EXR T 45 50 95| 13.0/ 82.0
1662 A B 44 38 82l 7.0/ 75.0 564 & FE{T 49 48 97 15.0/ 82.0
1761 RIR & 38 45 83 8.0/ 75.0 i | KH #XE 43 43 86/ 3.0 83.0
1861 EH Est 42 44 86 11.0/ 75.0 581 A B 47 51 98 12.0/ 86.0
19067 #H#EF S5 44 44 88/ 13.0/ 75.0 59 [ #FE 52 47 99| 13.0/ 86.0
206 FxF RA 46 43 89 14.0/ 75.0 60 HE # 51 48 99 13.0/ 86.0
2161 | KH f##E 43 43 86/ 10.0/ 76.0 6161 R)Il RE 48 45 93 6.0/ 87.0
221 HE # 45 45 90| 14.0/ 76.0 624 KEH UEIF 47 50 97, 9.0/ 88.0
2341 Ehan  fE— 41 43 84/ 7.0/ 71.0 636 #BEE AKXk 53 47/ 100/ 10.0/ 90.0
2461 AEH &k 43 4 84/ 7.0/ 71.0 644G 1BH ¥ 47 55| 102] 12.0/ 90.0
255 BkH ST 39 46 85| 8.0/ 77.0 65 KE EHE 52 53] 105/ 14.0/ 91.0
2661 Fhill EAE 42 44 86| 9.0/ 77.0 666 EO &K 55 51 106/ 10.0/ 96.0
21461 | FH & 43 45 88/ 11.0/ 77.0
286 FE =F 46 44 90| 13.0/ 77.0
291 [FHE EE 48 44 92 15.0/ 77.0
304 |HEEH  #ER 43 41 84/ 6.0/ 78.0
3z HEHE BEA 45 39 84 6.0/ 78.0
324 hngE AR 42 44 86| 8.0/ 78.0
33 A A 45 42 87, 9.0/ 78.0
ML HE HEBR 43 47 90| 12.0/ 78.0
354 |fEL  F 45 46 91| 13.0/ 78.0
66 =H EF 48 44 92/ 14.0/ 78.0
31T | KH  EhE 44 42 86| 7.0/ 79.0
8L EAE B 46 44 90/ 11.0/ 79.0
L A KEIL 45 45 90| 11.0/ 79.0
4062 |75 IF 44 50 94/ 15.0/ 79.0
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